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Name ______________________________

Short answer questions/problems

Use the following information to answer questions 1 through 4

Market Crash Inc., which has assets in place with a market value of $150 million, is considering investing $25 million in a new facility.  Market estimates that the net present value of this facility is $5 million.  If Market builds the new facility, the standard deviation of returns on Market will rise from its current 45% to 46%.  This rise stems from the high standard deviation of returns on the new facility (57%) and the high correlation between Market’s existing assets and the new facility (0.87).  The new facility is expected to have a life of 15 years compared to the expected life of Market’s existing assets of 20 years.  Market has outstanding debt which matures for $110 million 10 years from today.  In order to fund the project, Market will issue additional debt with the same priority of claim as its existing debt and which will mature for $30 million in 10 years.  To fund the project, Market will also use internal cash of $10 million and will issue common stock (if needed).  The APR (with continuous compounding) on Treasury securities depends on maturity as follows:  1-year:  3.53%; 10-year:  5.05%; 15-year:  5.51%; 20-year:  5.66%; 30-year:  5.13%.  In answering questions 1 through 4 assume you are attempting to value Market’s stock by valuing the stock as a call on Market’s assets.

1.  What would you enter for V0?

2.  What would you enter for Dt?

3.  What would you enter for rf?

4.  What would you enter for 2?

5.  Assume you are viewing stock as a call on the firm’s assets.  If the firm pays a significant dividend, which two variables change and how do they change in such as way as to hurt the firm’s bondholders?

6.  What do we call an action by the agent that provides information to the principle?  (Example:  management announces that the firm’s outlook is good and buys stock in the firm).

7.  List 2 ways in which issuing debt and repurchasing stock with the proceeds helps resolve conflicts of interest between stockholders and managers.
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Use the following information to answer questions 8 through 10.

Tax Man Cometh Inc. is planning to introduce an EVA incentive system with a bonus bank for 2002.  Tax has set an initial target EVA of $25 million and a leverage factor of $15 million.  Tax has set the target EVA bonus for Tax CEO, Mrs IRS, to 75% of her base pay of $1,200,000.  Tax will set Mrs. IRS’s initial bonus bank balance to  $1,800,000.  Assume that Tax generates an EVA of $20 million in 2002, $35 million in 2003, and $40 million in 2004.  

8.  How much of a bonus will Mrs. IRS earn (not get paid) in 2002?

9.  How much of a payment will Mrs. IRS receive from her bonus bank in 2002?

10.  If Tax sets future target EVAs using Harnischfeger’s self-adjusting target technique, what will Tax’s target EVA be for 2003?

